
Question Answer

1

a)

b) There are 2 boxes.
There are 6 apples in each box.

2

a) There are 2 groups.
There are 10 cubes in each group.

b) There are 5 groups.
There are 4 cubes in each group.

c) Yes
20 can also be shared into:
20 equal groups of 1 
10 equal groups of 2 
4 equal groups of 5

3

a) 20
b) 10
c) 8
d) 4
Yes
Exchange each ten for 10 ones for parts c) and d).

4

a) 30 ÷ 5 = 6
b) 30 is the total number of flowers, 5 is the number of vases and 6 is the number of 

flowers in each vase.

5

A   4
B   5
C   10
D   10
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